

Multivariate fermionic p -adic integral on \mathbb{Z}_p associated with Frobenius-Euler polynomials and numbers

Jong Jin Seo

*Department of Applied Mathematics,
Pukyong National University,
Busan, Republic of Korea.*

Taekyun Kim

*Department of Mathematics,
Kwangwoon University,
Seoul 139-701, Republic of Korea.*

Abstract

In this paper, we investigate some integral equations which are related to the fermionic p -adic integral on \mathbb{Z}_p . From our investigation, we derive some identities of Frobenius-Euler polynomials.

AMS subject classification: 11B68, 11S40, 11S80.

Keywords: Frobenius-Euler polynomials, fermionic p -adic integral on \mathbb{Z}_p .

1. Introduction

Let p be a fixed odd prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p . The p -adic norm $|\cdot|_p$ is normalized as $|p|_p = \frac{1}{p}$.

Let $f(x)$ be a continuous function on \mathbb{Z}_p . Then the fermionic p -adic integral on \mathbb{Z}_p is defined by Kim to be

$$\begin{aligned} \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) &= \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) \mu_{-1}(x + p^N \mathbb{Z}_p) \\ &= \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) (-1)^x, \quad (\text{see [9, 5]}). \end{aligned} \tag{1.1}$$

From (1.1), we note that

$$\int_{\mathbb{Z}_p} f_n(x) d\mu_{-1}(x) + (-1)^{n-1} \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = 2 \sum_{l=0}^{n-1} f(l) (-1)^{n-1-l}, \quad (1.2)$$

where $n \in \mathbb{N}$ and $f_n(x) = f(x + n)$, (see [5-10]). In particular, if we take $n = 1$, then we have

$$\int_{\mathbb{Z}_p} f(x + 1) d\mu_{-1}(x) + \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = 2f(0). \quad (1.3)$$

For $u \in \mathbb{C}_p$ with $|1 - u|_p < 1$ and $u \neq 1$, the *Frobenius-Euler polynomials* are defined by the generating function to be

$$\frac{1 - u}{e^t - u} e^{xt} = \sum_{n=0}^{\infty} H_n(x|u) \frac{t^n}{n!}, \quad (\text{see [1-4]}). \quad (1.4)$$

When $x = 0$, $H_n(0|u) = H_n(u)$ are called the *Frobenius-Euler numbers*.

For $r \in \mathbb{N}$, the *higher-order Frobenius-Euler polynomials* are given by the generating function to be

$$\left(\frac{1 - u}{e^t - u} \right)^r e^{xt} = \sum_{n=0}^{\infty} H_n^{(r)}(x|u) \frac{t^n}{n!}, \quad (\text{see [6-14]}). \quad (1.5)$$

When $x = 0$, $H_n^{(r)}(0|u) = H_n^{(r)}(u)$ are called the *higher-order Frobenius-Euler numbers*.

The *multiple Frobenius-Euler polynomials* are defined by Kim to be

$$\begin{aligned} & \left(\frac{1 - u_1}{e^t - u_1} \right) \times \left(\frac{1 - u_2}{e^t - u_2} \right) \times \dots \times \left(\frac{1 - u_r}{e^t - u_r} \right) e^{xt} \\ &= \sum_{n=0}^{\infty} H_n^{(r)}(x|u_1, u_2, \dots, u_r) \frac{t^n}{n!}, \quad (\text{see [8, 10]}). \end{aligned} \quad (1.6)$$

When $x = 0$, $H_n^{(r)}(0|u_1, u_2, \dots, u_r)$ are called *multiple Frobenius-Euler numbers*.

From (1.3), we can derive the following equation:

$$\frac{1}{2} \int_{\mathbb{Z}_p} q^x e^{xt} d\mu_{-1}(x) = \frac{1}{qe^t + 1} = \sum_{n=0}^{\infty} H_n(-q^{-1}) \frac{t^n}{n!} \frac{1}{(1 + q^{-1})q} \quad (1.7)$$

and

$$\frac{1}{2} \int_{\mathbb{Z}_p} q^y e^{(x+y)t} d\mu_{-1}(y) = \frac{1}{qe^t + 1} e^{xt} = \sum_{n=0}^{\infty} H_n(x| -q^{-1}) \frac{t^n}{n!} \frac{1}{(1 + q)}, \quad (1.8)$$

where $q \in \mathbb{C}_p$ with $|1 - q|_p < 1$ and $q \neq 1$.

By (1.8), we get

$$\frac{1}{2} \int_{\mathbb{Z}_p} q^y (x + y)^n d\mu_{-1}(y) = \frac{1}{1 + q} H_n(x| - q^{-1}), \quad (n \geq 0). \tag{1.9}$$

In this paper, we consider the multivariate fermionic p -adic integral on \mathbb{Z}_p and investigate some equations of those integrals. From our investigation, we derive new and interesting identities for the Frobenius-Euler numbers and polynomials.

2. Fermionic p -adic integral on \mathbb{Z}_p associated with Frobenius-Euler polynomials

In this section, we assume that $q_i (i = 0, 1, 2, \dots) \in \mathbb{C}_p$ with $|1 - q_i|_p < 1$. Now we consider the following multivariate fermionic p -adic integral on \mathbb{Z}_p : for $r \in \mathbb{N}$

$$I = \frac{1}{2^r} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q_1^{x_1} q_2^{x_2} \cdots q_r^{x_r} e^{(x_1 + \cdots + x_r + x)t} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r). \tag{2.1}$$

From (1.3), we note that

$$\begin{aligned} I &= \frac{1}{(q_1 e^t + 1)(q_2 e^t + 1) \cdots (q_r e^t + 1)} e^{xt} \\ &= \left(\frac{1 + q_1^{-1}}{e^t + q_1^{-1}} \right) \left(\frac{1 + q_2^{-1}}{e^t + q_2^{-1}} \right) \cdots \left(\frac{1 + q_r^{-1}}{e^t + q_r^{-1}} \right) \frac{1}{(q_1 + 1)(q_2 + 1) \cdots (q_r + 1)} e^{xt} \\ &= \left(\prod_{l=1}^r \frac{1}{q_l + 1} \right) \sum_{n=0}^{\infty} H_n^{(r)}(x| - q_1^{-1}, -q_2^{-1}, \dots, -q_r^{-1}) \frac{t^n}{n!}. \end{aligned} \tag{2.2}$$

Thus, by (2.1) and (2.2), we obtain the following theorem.

Theorem 2.1. For $n \geq 0$ and $r \in \mathbb{N}$, we have

$$\begin{aligned} &\frac{1}{2^r} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\prod_{l=1}^r q_l^{x_l} \right) (x_1 + x_2 + \cdots + x_r + x)^n d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \\ &= \left(\prod_{l=1}^r \frac{1}{q_l + 1} \right) H_n^{(r)}(x| - q_1^{-1}, -q_2^{-1}, \dots, -q_r^{-1}). \end{aligned}$$

Let $x = 0$ in Theorem 2.1. Then, we have

$$H_n^{(r)}(0| - q_1^{-1}, \dots, -q_r^{-1}) = \sum_{l_1 + \cdots + l_r = n} \binom{n}{l_1, \dots, l_r} \prod_{i=1}^r H_{l_i}(0| - q_i^{-1}).$$

It is easy to show that

$$\begin{aligned} & \frac{1}{2^{r-1}} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\prod_{l=1}^r q_l^{x_l} \right) e^{(x_1+\cdots+x_r+x)t} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \\ &= \sum_{k=1}^r \int_{\mathbb{Z}_p} q_k^{x_k} e^{x_k t} d\mu_{-1}(x_k) \left(\prod_{j=1, j \neq k}^r \left(1 - \frac{q_j}{q_k} \right)^{-1} \right) e^{x t}. \end{aligned} \tag{2.3}$$

Now, we observe that

$$\begin{aligned} \frac{1}{2} \int_{\mathbb{Z}_p} q_k^{x_k} e^{(x_k+x)t} d\mu_{-1}(x_k) &= \frac{1 + q_k^{-1}}{q_k e^t + 1} e^{x t} \frac{1}{1 + q_k^{-1}} \\ &= \left(\frac{1}{q_k + 1} \right) \left(\frac{1 + q_k^{-1}}{e^t + q_k^{-1}} e^{x t} \right). \end{aligned} \tag{2.4}$$

From (1.4), (2.2), (2.3) and (2.4), we have

$$\begin{aligned} & \sum_{n=0}^{\infty} H_n^{(r)}(x | -q_1^{-1}, -q_2^{-1}, \dots, -q_r^{-1}) \frac{t^n}{n!} \left(\prod_{l=1}^r \frac{1}{q_l + 1} \right) \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{k=1}^r \left(\frac{1}{q_k + 1} \right) H_n(x | -q_k^{-1}) \left(\prod_{j=1, j \neq k}^r \left(1 - \frac{q_j}{q_k} \right)^{-1} \right) \right\} \frac{t^n}{n!}. \end{aligned} \tag{2.5}$$

By comparing the coefficients on the both sides of (2.5), we obtain the following theorem.

Theorem 2.2. For $n \geq 0$ and $r \in \mathbb{N}$, we have

$$\begin{aligned} & \frac{1}{(q_1 + 1)(q_2 + 1) \cdots (q_r + 1)} H_n^{(r)}(x | -q_1^{-1}, -q_2^{-1}, \dots, -q_r^{-1}) \\ &= \sum_{k=1}^r \frac{H_n(x | -q_k^{-1})}{q_{k+1}} \prod_{j=1, j \neq k}^r \left(1 - \frac{q_j}{q_k} \right)^{-1}. \end{aligned}$$

It is easy to show that

$$\begin{aligned} & \frac{1}{(q_0 e^t - 1)(q_1 e^t - 1) \cdots (q_{r-1} e^t - 1)} \\ &= \frac{1}{q_0 q_1 \cdots q_{r-1} e^{rt} - 1} \sum_{i=0}^{r-1} \left(\prod_{l=0}^{i-1} \frac{q_l e^t}{q_l e^t - 1} \right) \left(\prod_{l=i+1}^{r-1} \frac{1}{q_l e^t - 1} \right). \end{aligned} \tag{2.6}$$

Thus, by (2.6), we get

$$\begin{aligned}
 & H_n^{(r)}(0|q_0^{-1}, q_1^{-1}, \dots, q_{r-1}^{-1}) \\
 &= \sum_{i=0}^{r-1} \frac{q_0 q_1 \cdots q_{i-1} (q_i - 1)}{q_0 q_1 \cdots q_{r-1} - 1} \sum_{l_0+l_1+\dots+l_{r-1}=n} \binom{n}{l_0, l_1, \dots, l_{r-1}} r^{l_i} H_{l_0}(1|q_0^{-1}) \cdots \\
 &\times H_{l_{i-1}}(1|q_{i-1}^{-1}) H_{l_i}(0|q_0^{-1} q_1^{-1} \cdots q_{r-1}^{-1}) H_{l_{i+1}}(0|q_{i+1}^{-1}) \cdots H_{l_{r-1}}(0|q_{r-1}^{-1}),
 \end{aligned} \tag{2.7}$$

where $r \in \mathbb{N}$ and $n \in \mathbb{N} \cup \{0\}$.

We observe that

$$\begin{aligned}
 & q_{r-1} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\prod_{l=0}^{r-1} q_l^{x_l} \right) e^{(x_0+x_1+\dots+x_{r-1}+x+1)t} d\mu_{-1}(x_0) \cdots d\mu_{-1}(x_r) \\
 &+ \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\prod_{l=0}^{r-1} q_l^{x_l} \right) e^{(x_0+x_1+\dots+x_{r-1}+x)t} d\mu_{-1}(x_0) \cdots d\mu_{-1}(x_{r-1}) \\
 &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\prod_{l=0}^{r-2} q_l^{x_l} \right) e^{(x_0+x_1+\dots+x_{r-2}+x)t} d\mu_{-1}(x_0) \cdots d\mu_{-1}(x_{r-2}).
 \end{aligned} \tag{2.8}$$

From (2.8), we have

$$\begin{aligned}
 & q_{r-1} H_n^{(r)}(x+1| -q_0^{-1}, -q_1^{-1}, \dots, -q_{r-1}^{-1}) + H_n^{(r)}(x| -q_0^{-1}, -q_1^{-1}, \dots, -q_{r-1}^{-1}) \\
 &= \frac{2}{q_{r-1} + 1} H_n^{(r-1)}(x| -q_0^{-1}, -q_1^{-1}, \dots, -q_{r-2}^{-1}).
 \end{aligned} \tag{2.9}$$

where $r \in \mathbb{N}$ and $n \in \mathbb{N} \cup \{0\}$. Therefore, by (2.9), we obtain the following theorem.

Theorem 2.3. For $n \in \mathbb{N} \cup \{0\}$ and $r \in \mathbb{N}$, we have

$$\begin{aligned}
 & q_{r-1} H_n^{(r)}(x+1| -q_0^{-1}, -q_1^{-1}, \dots, -q_{r-1}^{-1}) + H_n^{(r)}(x| -q_0^{-1}, -q_1^{-1}, \dots, -q_{r-1}^{-1}) \\
 &= \frac{2}{q_{r-1} + 1} H_n^{(r-1)}(x| -q_0^{-1}, -q_1^{-1}, \dots, -q_{r-2}^{-1}).
 \end{aligned}$$

It is not difficult to show that

$$q_0 q_1 \cdots q_{r-1} e^{rt} - 1 = \sum_{i=0}^{r-1} (q_i e^t - 1) \left(\prod_{j=0}^{i-1} q_j e^t \right), \tag{2.10}$$

where $\left(\prod_{j=0}^{i-1} q_j e^t \right) \Big|_{i=0} = 1.$

We observe that

$$q_i e^t - 1 = \left(\prod_{l=0}^{i-1} \frac{1}{q_l e^t - 1} \right) \left(\prod_{l=i+1}^{r-1} \frac{1}{q_l e^t - 1} \right) \left(\prod_{l=0}^{r-1} \frac{1}{q_l e^t - 1} \right), \quad (2.11)$$

where $i \in \mathbb{N}$.

Thus, by (2.10) and (2.11), we get

$$\prod_{l=0}^{r-1} \frac{1}{q_l e^t - 1} = \frac{1}{q_0 q_1 \cdots q_{r-1} e^{rt} - 1} \sum_{i=0}^{r-1} \left(\prod_{l=0}^{i-1} \frac{q_l e^t}{q_l e^t - 1} \right) \left(\prod_{l=i+1}^{r-1} \frac{1}{q_l e^t - 1} \right). \quad (2.12)$$

From (2.12), we can derive the following equations:

$$\begin{aligned} & H_n^{(r)}(0|q_0^{-1}, q_1^{-1}, \dots, q_{r-1}^{-1}) \\ &= \frac{q_0 q_1 \cdots q_{i-1} (q_i - 1)}{q_0 q_1 \cdots q_{r-1} - 1} \sum_{m=0}^n \sum_{n_1=0}^m \binom{m}{n_1} \binom{n}{m} H_{n_1}^{(i)}(r|q_0^{-1}, \dots, q_{i-1}^{-1}) \\ & \quad \times H_{m-n_1}^{(r-i-1)}(0|q_{i+1}, \dots, q_{r-1}) H_{n-m}(0|q_0^{-1} q_1^{-1} \cdots q_{r-1}^{-1}) r^{n-m}. \end{aligned} \quad (2.13)$$

where $n \geq 0$.

References

- [1] J. H. Jeong, J. H. Jin, J. W. Park, S. H. Rim, *On the twisted weak q -Euler numbers and polynomials with weight 0*, Proc. Jangjeon Math. Soc., **16** (2013), no. 2, 157–163.
- [2] D. S. Kim, D. V. Dolgy, T. Kim, S. H. Rim, *Identities involving Bernoulli and Euler polynomials arising from Chebyshev polynomials*, Proc. Jangjeon Math. Soc., **15** (2012), no. 4, 361–370.
- [3] D. S. Kim and T. Kim, *Symmetric identities of higher-order degenerate q -Euler polynomials*, J. Nonlinear Sci. Appl., **9** (2016), no. 2, 443–451.
- [4] D. S. Kim, T. Kim, Y. H. Kim, D. V. Dolgy, *A note on Eulerian polynomials associated with Bernoulli and Euler numbers and polynomials*, Adv. Stud. Contemp. Math., **22** (2012), no. 3, 379–389.
- [5] D. S. Kim, N. Lee, J. Na, K. Park, *Identities of symmetry for higher-order Euler polynomials in three variables (I)*, Adv. Stud. Contemp. Math., **22** (2012), no. 1, 51–74.
- [6] D. S. Kim, *Symmetry identities for generalized twisted Euler polynomials twisted by unramified roots of unity*, Proc. Jangjeon Math. Soc., **15** (2012), no. 3, 303–316.
- [7] D. S. Kim, *Identities associated with generalized twisted Euler polynomials twisted by ramified roots of unity*, Adv. Stud. Contemp. Math., **22** (2012), no. 3, 363–377.
- [8] T. Kim, J. Choi, *A note on the product of Frobenius-Euler polynomials arising from the p -adic integral on \mathbb{Z}_p* , Adv. Stud. Contemp. Math., **22** (2012), no. 2, 215–223.

- [9] T. Kim D. V. Dolgy and D. S. Kim, *Symmetric identities for degenerate generalized Bernoulli polynomials*, J. Nonlinear Sci. Appl., **9** (2016), no. 2, 677–683.
- [10] T. Kim, *A study on the q -Euler numbers and the fermionic q -integral of the product of several type q -Bernstein polynomials on \mathbb{Z}_p* , Adv. Stud. Contemp. Math., **23** (2013), no. 1, 5–11.
- [11] S. H. Rim, J. Jeong, *n the modified q -Euler numbers of higher order with weight*, Adv. Stud. Contemp. Math., **22** (2012), no. 1, 93–96.
- [12] C. S. Ryoo, *A note on the Frobenius-Euler polynomials*, Proc. Jangjeon Math. Soc., **14** (2011), no. 4, 495–501.
- [13] E. Sen, *Theorems on Apostol-Euler polynomials of higher order arising from Euler basis*, Adv. Stud. Contemp. Math., **23** (2013), no. 2, 337–345.
- [14] Y. Simsek, O. Yurekli, V. Kurt, *On interpolation functions of the twisted generalized Frobenius-Euler numbers*, Adv. Stud. Contemp. Math., **15** (2007), no. 2, 187–194.

